
Jerry Greer's Engineering - 1940 Chief - Horn

Ref Part # Qty Description Price

Page 1               Created On: 04/25/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Horn

Ref Part # Qty Description Price

1 JG-3015 1 HORN ASSEMBLY, 6-Volt, mounting bracket, horn back and Chrome Plated horn face included currently
unavailable

2 100728 1 HORN COVER, Indian face, drill and tap to match your horn; Chrome Plated currently
unavailable

3 100729 6 SCREW, 1/4''-28 X .312''(Fillister Head), use to mount horn face $3.75

4 100730 6 HORN LOCK WASHER, 1/4'' High Collar; Cad Plated $0.50

5 35H9A 1 HORN RUBBER CUSHIONS, (set of 4) $16.25

6 35H9B 1 HORN CUSHION RETAINER, front, big holes $20.00

7 JG-2633 1 HORN BRACKETS, left and right; Bare Finish $31.00

8 35H9C 1 HORN CUSHION RETAINER, rear, small holes $25.00

9 75180 1 HORN BACK, flat; Bare Finish $50.00

10 100650 4 WASHER, #10 Flat; Cad Plated $0.75

11 922004 4 WASHER, #10 Split Lock; Cad Plated $0.75

12 37397 4 ACORN NUT, #10-32, 3/8'' flats; Chrome Plated $2.00

Page 2               Created On: 04/25/2024 - Copyright 2024 Jerry Greer's Engineering


